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1. n SRS G W GGYS F J@: B0 F, q@ 7. H§ Atk 9 WA 3 km/hr I 3hga =1

0 Y AT T BT AR A FE@E 40 fime vedt wdEan #)
) it 3fe 98 2 km/hr F 306d =6 ¥ F@@ 2, @
2 40 iz T | YgEa 8| 3WF W AR Frfer
x x % o= 6 gl = 27
@ 22 289 "
fa) 6 km (b) 8 km
2. 417 +43% frud fawrsy #7 (¢ 10 km (d 12 km
(@) 80 (b) 84
(c) 86 (d) 88 1 3 1
8 5Va+4v5 B/5%5/6 746 +6v7
3. IR x = 7+443, N Vx +—— T 9H TE7 M 1 v 1
Jx 8J7+7J8 9J8+8/9
(@ 1 (b) 2 1 HE 1 87
c) 3 (d 4 1 1
(a) “Jg (b) 2
4. 4611462 1463 4 464 frER fawrsy B7
@ 7 b) o © 1 @ <
© 11 @ 17 Q
\\Q
s.m?ﬁm,a’lm@eﬂﬁawmm 9. qR xoogoo W@ Hex oo oo
HCF #H: p 3R p:q=14:13R 2x +1)(6x - 3)
pq=1134, & % di" HR Eo R
w1 87 %§\
o (@ 1111 (b) 2222
(b) 35 (c) 3333 (d) 6666
(c) 45
(d) ¥aate sfwel % wro fuifa 7@ fen
ST FeRal 10. R (x+V1+x2)(y+y1+3%)=1, &
xaﬂiyaﬁﬁ'ﬂim%,?ﬁ(x+yj2ﬂﬂﬂﬁ
6. _(5-4°-0-064 1 7 1 87 w1 87
(5:-4)2 +2.16+0-16
@ 4 () 44 . s
¢ 5 (d) 54 ) 4 (d 9
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1. What is the ratio of interior angle to
exterior angle of a regular polygon of

n sides?
n-1
(@ n (b) Vi
n-2 2(n-2)
(c) i (d) ~ 3

2. 41% +43% s divisible by

(@) 80 (b) 84
() 86 (d) 88
3. If x=7+4J/3, then what is the value
of JE+%?
(@ 1 (b) 2
© 3 d 4

4, 4611462 1463 4 464 jg divisible by
(@) 7 (b) 9
© 11 @ 17 Q

5. Suppose p and g are th:
respectively of two
If p:q=14:1and
is the differe
numbers?
(a) 27

(b) 35
c) 45

(d) Cannot be determined due to
insufficient data

134, then what
tween ~the two

6. What is the value of the following?

(5-4)° -0.064
(5-4)2 +2:16+0-16
(a) 4 (b) 44
) 5 (d) 54

GHSA-T-MTK/45A

7. A man walks at an average speed of
3 km/hr from his residence and reaches
office 40 minutes early. If he walks
at an average speed of 2 km/hr,
he reaches 40 minutes late. What is
the distance between his residence

and office?
(@ 6 km (b) 8 km
(c) 10 km (d) 12 km

8. What is the value of the following?

1 1 1
5V4 + 457" 6%5/+ 576 | 746 + 647
1 1
+8ﬁ+74§+9J§+3J§
1 1
(a) T (b) —
© 1 @ X

9, If x =9999, then what is the value of
the following?

4x3 - x
(2x + 1)(6x - 3)
(@ 1111 (b) 2222
(¢) 3333 (d) 6666

10. If (x+V1+x2)(y+y1+y%)=1 where

x and y are real numbers, then what
is the value of (x + )2?

(@ O (b) 1

fc) 4 (d 9

[P.T.O.
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11. 2sin68& 2cotls®
cos22° Stan75°
_3tan20° tan40° tan45° tan 50° tan 70°
5

%1 9 #9187
(@ -1 (b) O
€ 1 @d 5

12. fodfi wwam fiys % o @ #of w o= ™
o W oA 9 E M 16 W A
TGl % 3 @el § sfeal g1 o 6 o
1 87
(a) 6 %3
(b) 8 FHE
(c) 10 3T
(d 12 38

13. Ifd 43% x47Y =(2021)2, x#0, y=0, @

(@ 5 (b) 15\\Q®
(@ &@
14. WA #iY q, b, c,&@ﬂ?%lﬂﬁ

@ a, b, ¢, d B IPES F1 87
(@ 24 (b) 51
) 68 (d) 102

15. AR x2 =17x+y M y? =x+17y, x# y,

W x2 +y2 +1 F9H 1 R?
(@ 17 (b) 19
(c) 23 (d 27
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16. n %1 JAaH HH 1 8, A2 194480+ n = m*,

Wﬁmaﬁlnﬂqﬂﬁ@qﬁﬁ?

(@ 1 (b) 2

(c) 3 (@ 4
17-qﬁ;ﬁ}yw—;=%;(x>0,y>0),ﬁi

1 WH H1 87

(@ 1 (b) 2

(c) 4 (@ 8

18. TH-TW F TR HA A fF wdEw gal (vdw
4 cm B 9@) | Reg &3 F1 fwa =0
?7

{a) %E‘f cm
8n
(b) (16J§—v§wJaﬁ cm

(c) (16v3-8n) @ cm

16n
(d) el 1 cm

19. A9 B 1§ HR 40 km/hr i 9« &
Ierdt 8, 999 B® A 9% 30 km/hr #I 91
¥ Tt @ 3R G: A ¥ B 60 km/hr #
1 | Fadt 81 FR A shed = =0 e

130

(c) 40 km/hr (d) ﬁ;km/hr

20. 9410 ¥ Frafafan # & F9-H agow gy
e wer W 5 = g8 vem ol o .

Sg?
(@ 4 (b) 3
(c) 2 (d 1
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11. What is the value of the following?
2sin68° 2cot1$®
cos22® San7d°
_ 3tan20° tan40° tan45° tan 50° tan 70°

5
(@ -1 (b) 0O
© 1 @d 5

12. The perpendicular dropped from a vertex

of a right-angled triangle upon the
hypotenuse divides it into two segments

of lengths 9 wunits and 16 units

respectively. What is the length of the
perpendicular?

(a) 6 units
(b) 8 units
(c) 10 units
(d) 12 units

13. If 43* x47Y = (2021)%, x# 0, y# 0, then
what is the value of the following?

4xy+x+y
2xy-x-y Q’&
N\
(@ 5 (b) 15®
(c) 25 (d

N
14. Let a b, ¢ d be c&g!.\\,e integers. If
1 17

A e R
b+ ]
1
C+ =

then what is the product of @, b, ¢ d?
(a) 24 (b) 51
(c) 68 (d) 102

15. If x2=17x+y and y? =x+17y, x# y,

then what is the value of wfxz + y2 +17?

(@ 17 (b) 19
) 23 (d 27
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16. What is the least wvalue of n if
194480+ n=m?*, where m and n are
natural numbers?

@ 1 (b) 2
() 3 (@ 4
17. If
b i) o

W=&i(">qy>0}

then what is the value of X
y

(@ 1 (b) 2

(c) 4 (@) 8

18. What is the area of the region enclosed
by three identical circles (each of radius
4 cm) touching each other?

8n
(a) 5 square cm

(b) (16\/_-8—;] square cm

(c) (1643 - 8n) square cm
(d) 196 square cm

V3

19. A car travels from A to B at a speed of
40 km/hr, travels back from B to A at
a speed of 30 km/hr and again goes
from A to B at a speed of 60 km/hr.
What is the average speed of the car?
(@) »1%0 km/hr (b) 42 km/hr

() 40 km/hr (d) ﬁ:km/hr

20. What is the smallest natural number
from the following which must be
subtracted from 9410 to make the
remaining number a perfect square?
(@ 4 () 3
(c) 2 (d 1

[ P.T.O.
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21

22

23

24.

275 + 313 frud fawrsy ®7

(@ 8 () 10

(c) 12 (d 21

. WA i p=22"*2 4m AR g=2" -m

(STl n 99 wAql W@ R) | m F FFAH TH
w11 8 a1 p oft 3R g oft, 5 @ s A7

(@ -1 (b) 1

(c) 4 (d 6

. gfe fordt weTeRss arEafas @& x 1 T FHE

77 IR 12 SEA GHE B, 9 x e SR
R?

(@) 2 (b) 3
fc) 4 (@ 5
1 1 1 : 1
1+72- 2413  [3%/a Q.Q
L. et
bl 20 + /2021
e s &7 Q\QQ"
(@) 2020+1@
(b) +2021+1
(c) 2020 +42021-1
(d) 2021-1
28, M xe Ll aBiquio 8% -
X g Tx2 - 3x+7
??
3 5
(a) 7 (b) 12
3 10
(c) 1 (d) 29
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26.Hﬁ'a+b=2,%+%=2,fﬁa3+b3$!m
w1 27
(@) 2 (b) 4
c) 6 (d) 8

27. 8 789 41 12 ool fomeht &m #t 24 faAi § &
Td §1 8 T8 3R 12 Tl 36t wm =+ e
&t 7 w07
(@ 12 TA
(b) 18 f&

() 24F=

(d) g Atwgl & wnu fuffa 5@
BIRET

28. fFft FX A ukm/hr H Iwa I |
350 km A gt @ FA F p e @ ¥
freft 371 #R # v km/hr #i Ed =@ Y
I €@ gt @ A A g e I ¥ AR
u—v=537|'ftq—p=140,'rhu$lﬂﬁw

??
(@) 35 (b) 30

c) 25 (d 20

29. x Gl 3R x f&=1 # forem fire 2 27
(@ 11520x (b) 5760x

(c) 480x (d) 192x

30. A YATHE W@ p 3R g (p>q) F WHIR
ey 3R R AR wEE: A IR G R

Frafafias # @ FF-w o v ?7
(@ A>G () G>A
(¢ A=G (d A%=G
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21. 275 + 33 is divisible by
(a) 8 (b) 10
€ 12 @d 21

22. Let p=22"*2.m and q=2*"-m
(where n is even natural number). What
should be the least value of m such
that p as well as g is divisible by 57?
(@) -1 (b) 1
(c) 4 (d 6

23. If squaring a positive real number x is

same as adding 12, then what is x
equal to?

(@ 2 (b) 3
(c) 4 z (@ S
24. What is

1 1 i
1442 2+43 3+

1
et
J202®+ J2021

equal to? S\\Q

(@) 2020 +1 %§Q’
(b) J2021+1 ’Q\Q
(c) mwﬁ-l
(d) J2021-1

25. If

175
x+a% =
x 2

then what is the value of the following?
Sx
7x2 -3x+7
3 5
7 T
3 10
= 7
14 @ 29
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26. If

a+b=2, +—=2

Q|-
o

then what is the value of a® +b3?

(@ 2 (b) 4
(c) 6 [d 8

27. 8 men or 12 women can do a piece of
work in 24 days. In how many days
can the work be done by 8 men and
12 women?

(a) 12 days
(b) 18 days
(c) 24 days

(d)¢ Cannot be determined due to
insufficient data

28. Acar takes p minutes to travel a distance
of 350 km with an average speed of
u km/hr. Another car takes g minutes
to travel the same distance with an
average speed of v km/hr. If u-v=5
and g- p = 140, then what is the value

of u?
(@) 35 (b) 30
(c) 25 (d 20
29. How many minutes are there in x weeks
and x days?
(a) 11520x (b) 5760x
(c) 480x (d) 192x

30. The arithmetic mean and the geometric
mean of two positive numbers p and g
(p > q) are A and G respectively. Which
one of the following is correct?

(a) A>G (b) G>A

() A=G (d) A%=G

[ P.T.O.
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31.@&@16&me2+“+|3=0%
e &, &l B 2 0, M o — B F AE T 27
(@ 4 (b) 3
e -1 (d) -3

32. #1§ gHreR T awg 6t Fiva €200 ifE
FA B 10% F g2 | F 91 ot W A
HWd W 20% F AN B B I T A

AT i =1 87
(@) ¥170 (b) ¥160
(c) ¥150 (d ¥120

33. et =fs 3 affs g =9 F 7% W
£9,000, 8% W ©12,000 3 9% W
£ 15,000 3uR fU| A n a6 f g
W ¥50,700 HFH T2 | n F HE 1 87

(@) 3 (b) 4
(c) 5 (d 6

34. ﬁmﬁf@awﬁmﬁaﬂmé&

1. o #ATE g | F TA & A
03 frsadl ¥

2. Yers famy w& (> 1) F yAF 99 9
H 8 R W ¥y 1 e R

I wUE A F -/ wE R/

(@) Faa 1

(b) Fee 2

(c) 13 23IH

(d AWM 1ARAE 2

35. 1000 ¥ fawmmet € w&m (1 3R 1000 =t
BIgH) F1 87

(a) 12
(c) 14

(b) 13
(d 16
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36. Ife TrfiEm
x2 -k2x+30kx-161x-64 =0

F el H AM YA B, @ A qAl F AR F
B?

(@) 15

) 17

() 16
(d@ 18

37. T #98 % gHe A Fwa €10,000 B AR
3 F9 F 2 m R T gHe I Fa |
wler st 8, o @ €250 ufd Hiw w6 A
ot ¥ U F g A W T = R7
(a) 8 m () 10 m
© 12 m (d) 16 m

38. & ¥ Waay ¥ for wiww
ax? +bx+c=0
FHA€ : 1 % 3gua | |7

(@ b2 =alc+1)?

(b) a® =blc+1)?

() b%=alc-1?

(@ ab? =(c+1)?

39. guam TR Feht fRE Bge it @ e 6x2
3k 2x2 -1) ¥ 3R Byw # dawa 84
7 2, @ Biye =1 i = k7
(@ 5138
(b) 53 THTE
(c) 56 FHTE
(d) 59 T

40. A W&l F 19 192 km A gl T FA § F§
W X W 39 @ Y H gen A 2 €
FH ot 81 37h ofed 91 # 16 km/hr #
A 1 3M I A AN I@A el oS H
foraen wwa wm?
(@ 3
(c) 5%

(b) 42
(d) 6u
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31.

32.

33.

34.

If a and B are the roots of the quadratic
equation x2 +ox+Pp=0, where B#0,
then what is the value of a - 7?

(@) 4 (b) 3
) -1 (d -3

A shopkeeper marks the price of
an article at ¥200. After allowing
a discount of 10%, he still gains 20%
on the cost price. What is the cost price
of the article?

(@ ¥170
(c) €150

(b) ¥160
(d €120

A person borrowed ¥9,000 at 7%,
¥12,000 at 8% and ¥ 15,000 at 9%
simple interest per annum. He had to
pay ¥50,700 at the end of n years.
What is the value of n?
(@) 3 (b) 4
e S (@ 6

Consider the following state{§& :

1. The sum of the of ‘three
consecutive natu@ numbers \ is
divisible by 9. Q\Q

2. Every eve wer of évery odd
number (>%¥) when divided by 8
gives 1 as remainder.

Which of the above statements is/are
correct?

(a) 1 only

(b) 2 only

() Both 1 and 2
(d) Neither 1 nor 2

35. What is the number of divisors of 1000

(excluding 1 and 1000)?
(a) 12 (b) 13
(c) 14 (d) 16

GHSA-T-MTK/45A

36. If the sum of the roots of the equation

x% —k2x +30kx - 161x - 64 = 0 is zero,
then what is the difference of the roots?

(@) 15 (b) 16
¢ 17 @ 18

37. A piece of cloth costs ¥10,000. If a 2 m

longer piece of the same cloth is
purchased for the same amount,
it would cost ¥250 less per metre.
What is the original length of the piece
of cloth?

(ag 8 m
© 12m

(5) 10 m
(d 16 m

38. What is the condition that the roots of

the équation ax? +bx +c= 0 are in the
ratio e:'1?

(@» b2 =alc+1)?
(b) a? =bic+1)?
) b2 =alc-1)>?
(d) ab?=(c+1)?

39. Two sides of a triangle forming a right

angle are 6x2 and [2x2 —1). If the area

of the triangle is 84 square units, then
what is the perimeter of the triangle?

(a) 51 units
(b) 53 units
(c) 56 units
(d) 59 units

40. A train X takes 2 hours less than a train

Y to cover a distance of 192 km between
two cities. Their average speeds differ
by 16 km/hr. How long does the faster
train take to cover the journey?

(a) 3 hours (b) 4 hours
{c) S hours (d) 6 hours

[P.T.O.
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41. TF Y 3R @ FYE | F=r fift .

¥ .
HT 3x + 2y YATHE 7
FU-1 : x3 =-29.8
FYA-11 : y° = 3x
T 3R FYA % 91§ Fefafaa 3 @ FF-w
T w87

(@ WA F IW A F U Faa wE-1 @
i B

(b) W F IW A & foU Fa@ wE-1 @
9IiH &

() A & IW J| *F fow #we@-1 iR
FY-11 31 Frera wafn §

(d TH F IW J| F fau wE-1 R
FY-11 21 gaTH 78 &

42. TF 9 3R 9 FyE W = il .

TH

.Q'
W‘H‘-’ﬂ?ﬂmax2+bx+c=§g§%ﬂﬂﬂm
el aTedfere gel 87 ,§’

Y-l :c/a>0
T 3R FeEl % 9R § Fefofed # & #F-m
T Wl B7

(@ TH & IW A & fou Faa -1 @
i ®

(b) TE F IW A F ¢ Faa w11 @
i

(c) H & IW | F fau wym-1 i
FHYA-11 21 Tiere gaia 8

(d TR ® IW P| F U wym-1 ik
FHUA-11 IH1 Toi 7 &
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43. & YH 3R 3 HE W fG=9r Hifvw
034

F a?+b%+c2-ab-be-ca (a, b, ¢

i areafes et §) wdar v 27
wYI-lI:a>b>c

FYI-ll :a+b+c=0

v 3R FeEt F o) A Frafofaa § @ S9-w

T HEl B7

(@ YE F IW A & fau Faa wuR-1
aruféra &

() TH F TW =4 *F U Faa FUR-1I
araferd @

() WA H IWM ¢\ F fow wE-1 R
FYT=11 91 fra ¥

(d) T H I J F o T @ w1 3R
T 8 HUE-11 3 &

44, T 9F AR 3 F9E 1 = Hifvw

U4

6,6 4, 4
w1 "4*34 A "2+y2(x¢y=e01ﬁ
xT+y x“+y

EEIRd

w1 x>y

FgA-11 : x? +y? > 2xy

W 3R FoEl F 91 | Ffafaa 7 § FR-a

F Hel 87

(@ YH H IW A * fau Faa FE-1
afda ?

(b)) TH F IW o4 & U Faa FYE-1I
srafera B

€ YA F IN 81 & fow F2@-1 R
FYE-11 941 3fra &

(d) FE F IW A & fow 3 @ -1 @i
A € -1 e @
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41, Consider a question and two statements :

Question :
Is 3x +2y positive?

Statement-I : x3 =-29.8

Statement-II : y° = 3x

Which one of the following is correct
in respect of the question and the
statements?

(a) Statement-1 alone is sufficient to
answer the question

Statement-II alone is sufficient to
answer the question
(c) Both Statement-I and Statement-II

are together sufficient to answer
the question

Both Statement-I and Statement-II
are not sufficient to answer the
question

(b)

(d)

42. Consider a question and two statements :

Question :

$
Does the equation bx + ¢c'=0
have real roots of L@site sign?
Statement-I : The d inant D >0

o4@>0

Which one of the following is correct
in respect of the question and the
statements?

(a)

Statement-II :

Statement-I alone is sufficient to
answer the question

Statement-ll alone is sufficient to
answer the question

(c) Both Statement-I and Statement-II
are together sufficient to answer
the question

Both Statement-I and Statement-II

are not sufficient to answer the
question

(b)

(@)

GHSA-T-MTK/45A
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43'

“-

Consider a question and two statements :
Question :

Is a2 +b2 +c2 -ab-bc-ca fa,. b, e

are distinct real numbers) always

positive?
Statement-1 : a>b>c¢
Statement-1I : a+b+c=0

Which one of the following is correct
in respect of the question and the
statements?

(a)

Statement-1 alone is required to
answer the question
(b) Statement-Il alone is required to

answer the question

(c) Both Statement-I and Statement-II
are required to answer the question

(d). Neither Statement-I nor State-
ment-II is required to answer the
question

Consider a question and two statements :
Question :
x8 + y®

x4+y

Is always greater than

2—y(x#y¢ 0)?

x“ + y
Statement-1 : x> y
Statement-II : x2 + y2 > 2xy

Which one of the following is correct
in respect of the question and the
statements?

(a) Statement-I alone is required to
answer the question

(b)

Statement-II alone is required to
answer the question

(¢) Both Statement-I and Statement-II
are required to answer the question

(d) Neither Statement-I nor State-
ment-II is required to answer the
question

[P.T.O.
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45. fraa fgam adfeon § 3 H?'ﬁ %F Irm, I 48, sin?6+cos* 6 -2sin?0cos?6 AqH

el % UFES 6 S B 87 HH F1 27
(@ A (@ O
(b) TH
(b) 1
¢ =
2
(d) IFFad: FH i
(d) = "H %1 e T R
46. f
k-5 LEE080 Mng,
1+sin® 49. IR cosO +sech -2 =0, &l 0S9<g, @
fﬁs—ﬂ_lna:oc::e_lmm%? cos? 0 +sec? 0 — 2 F1 WH AT Y
@ -+ M
X
(b) -1
(b) x
(g O
c) 1+x S\\Q®
&5 (@ 2
@ x-1 O
N
@Q
@ 50. 9’ y=cos? x +sec? x, &l 0$x<g, @
47. TR coste+y=0 ol Sintx-y =1, ol e & -1 W 47
n f ?
x,ye[O.Q],?ﬁcot@x Y FHE R (@ 0<y<0-5
(@ O
(b) 0-5<5y<1
1
®
¢ 1<sy<2
€ 1
@ 2 (@ y=2
GHSA-T-MTK/45A 12
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45. How many quadratic equations have the
sum of their roots equal to the product
of their roots?

(a) Zero
(b) One
(c) Two

(d) Infinitely many

% 1-cosf +sinB
1+sinB

sinB +cosb -1

then what is equal to?
cosf

@ ~

X
(b) x

$
fc) 1+x g\\
S

d x-1 Q
(@ x $Q\

47. If cos(x+y) =0 and sin(x —~y) = %, where

X, Y€ [0, %], then what is the value of
cot2x-y)?
(@ O

) 1

(c) 1

(d) 2

GHSA-T-MTK/45A

48, What is the minimum value of
sin? 8 +cos? 8 -2sin? Bcos? H?

(@ O
(b) 1
(c) 2

(d) Minimum value does not exist

49, If cosB +secB=2=0, where 059-:%,

then what 18 the value of
cos?0+secto-2?

(@ =2
(o) -1
€ O

(d) 2

2 2

50. If y=cos“ x+sec” x, where 0$x<g,

then which one of the following is
correct?

fag 0<y<0-5

() 0-5<y<1

) 1<y<?2

(@ y=2

[P.T.O.
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51. IR A, B, C=A v § 3R 55.
sin(B+C- A) =cos(C+ A- B)
=tan(A+B-C)=1

(secza +tana - tanp - tan? o) ?

+(tano. - tanp)? - sec? o -sec? B

@ (A + B+ C) Forad sar 87 foraes s R7

(@) 90° ki

(b) 120°

(c) 135° L

(d) 150° c 1
52. 3Rk A, B, C, D &t =fm =gs & #m , (d) 2

?ﬂsin[A;cJ+sin[B;D)?rﬂqﬂW%?

2 56. IR tan® +sech = 3, @ 3tan® + 9secHd

(@ H 41 8¢

(b) 1

fc) O (@ A5
53@%%%#%@%%%% (c) 19

T ¥ s W frg frg A 38 2@ W @ R,

% A 7 10 km T ¥ S AR @ 21

m%wﬁwnmﬂﬁ?s%h\ﬁﬁqu
R, e & A 3w w47

57. Fafafas w faar fifse .
fa) 0<8B<30° &

(b) 30‘,(9{4@ 1 Jsec28+cosec29=tan9+cot9,

(c) 45°<B<60° &l 0< 6 <90

(d) 60°<8 <90° 2 \/tan29+cot29+4=scc9+cosec9,

0<0<90°

54. i W R fag A/x i 32 Pl T F i

i =1 IE F0 60° T Sl ¥ 99 g A IFE § W HH-T1/A qE@HE /27

y i ® IM W, | 30° & W@ B

frefeifiaa dasi 3 @ F9-1 T 96 27 (@) ¥ 1

(@ x=y (b) FaS 2

(b) 2x=3y

) =By (¢ 1 3R 23E

(d) 2y=+3x (d Fd13RAd2
GHSA-T-MTK/45A 14
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51. If A, B, C are acute angles and
sin(B+ C- A) =cos(C+ A-B)
=tan(A+B-C)=1
then what is (A+ B+ C) equal to?
{a) 90°
(b) 120°
(c) 135°
(d) 150°
52. If A, B, C, D are the angles of a cyclic

quadrilateral, then what is the value of
the following?

: (A+C] ; (B+D)
sin +sin
2 2
(@ 2
(b) 1
(c) O
d -1
53. An aeroplane 1is observed to be
approaching the airport. It is at
a distance of 10 km from the point of

observation on the ground an akes
an angle of elevation 6. If th plane

is at a height of 8 km abov@h ground,
then which one of ollowing is

correct? Q\Q
(@ 0<8 <30 §Q$
(b) 30°< B <45°

(c) 45°<86 < 60°

(d) 60°<8 <90°

54. The angle of elevation of the top of
a tower of height x metre from a point
on the ground is found to be 60°. By
going y metre away from that point,
it becomes 30°. Which one of the
following relations is correct?

(@ x=y

(b) 2x =3y
() 2x=+3y
(d) 2y=+3x

GHSA-T-MTK/45A

55. What is

(set:2 o +tano - tanf - tan? u)2

-

+ (tano - tanp)? - sec? o -sec? B

equal to?

(@ -1
(b) O
€ 1
(d) 2

56. If tan6 +secB = 3, then what is the value

of 3tan® + 9sect ?
(a)~15
(b) 17
(c) 19

(d 21

57. Consider the following :

1 \/s.ec2 9 +cosec20 = tan® +cot®,
where 0< 6 < 90°

2. w./tan2 0+cot?0+4 =sech + cosechH,
where 0< 0 <90°

Which of the above is/are an identity/
identities?

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

HPO.
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58. Tt wwie g &t sfiar i, S F= W20 F 61. F=fufas syl w fomr Hifs .
o afa w@ R, T wnoR, ol 1. IR Rl 39 A 2 st AB ¥k AC

0 < 45°7 TR §, A I F FR, F CAB &
(@) sin20 v fasreie W e g

2. IR A wHA g9 R @ g wwm:

(b) cos28 A, B, C 3R D W yir=dfia &1 &, @
(c) 2sin® AC= BD.
(d) 2cosb wﬂmmﬁﬁﬂaﬂq—m{ﬂmﬂ%/ﬁ?
(@) Faa 1
59. 3f? tan?6+3sec6-9=0, & 0<H<90", (b) ¥ 2
Al 12cot? 8 + 3cosecH 1 HH HT &7 © 1 3o
(@ W3+1)? (@ @ raad2
(b) W3+2)? 62. 25 cm a1 % el 99 A @& S A T
48 cm ®1 39 F F3 4 Sal | @ Y T
() 2V3+1)? = T 87
(@) 5 cm
(d) (3'~/§+1)2 S\\§® (b) 55 cm
’b&)% (c) 65 cm
60. IR Q\Q (d) 7 cm
cosB @os& =5
cosecf +1 Tosech <1 63. x TS % U4 I Y8 &FFA y U & U &
W&l 0<0 <90, d sin®® +cos? 8 w1 AF & F TR ¥ FH W
ﬁﬁﬂﬁﬁﬁ:
w7
1. 2x>3y
i 2. A H I, T *F JFH ¥ A B
b) 1 I woE H B PH-H1/A |/ /2T
¢ (@) Fa& 1
3 (b) ¥ 2
) 1 323
@ 5

(d Jd13RAE2
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58. What is the length of the chord of a unit 61. Consider the following statements :
circle which subtends an angle 26 at 1. If two chords AB and AC of a circle

the centre, where 8 <45°? are equal, then the centre of the

(a) sin26 circle lies on the angle bisector of
angle CAB.
(b) cos20 2. If two concentric circles are
intersected by a line at A, B, C
(c) 2sinB and D respectively, then AC= BD.
Which of the above statements is/are
(d) 2cosd correct?
a (a) 1 only
§9. If tan“0 + 3sech -9 = 0, where 0<8<90°,
(b) 2 only

then what is the wvalue of
12cot? 6 + 3cosech ? (c) Both 1.and/2
(d) Neither.1 nor 2
(@) W3+1)?
62. A circle of radius 25 cm has a chord of
2 length 48 cm. What is the length of the
e i perpendicular drawn from the centre of

the circle to the chord?
€ @V3+1)32

(@) S5 cm
(@) (3V3+1? \\Q® Gote o
@ (c) 65 cm
60.. If NS G BT
cosf QB \J 63. The surface area of a cube of length x
cosech + 1 +§§aec9 k. is equal to the surface area of a sphere
of radius y. Consider the following
where 0<6<90° ‘then what is the Maen
value of sin? 8.+¢os* 67 1. 2x>3y
2. The volume of the cube is greater
(@ 2 than the volume of the sphere.
Which of the above statements is/are
(b) 1 correct?
(©) 1 (a) 1 only
2 (b) 2 only
1 (c) Both 1 and 2
d =
@ 4 (d) Neither 1 nor 2
GHSA-T-MTK/45A 17 [ P.T.O.
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64. Tl Tragdm wig A o s =€ 3.7 %
o & #1 9ft g 1 @ 528 om? ¥,

A v A S o 27 (n=?$mm)

(a) 3:5 cm (b) 70 cm
() 105 cm (d 140 cm

65. Fordl SR Feft 1 3aft® =™ 14 cm B
A A B 154 o ufd e ) @ | o
¥® W Bl km/hr ¥ gt A nfq T 27

(a) 05 (b) 06
(c) 08 d 1

66. 6 cm M % ¥R F & T # fgemE
: fF et # e R s ) @ e ¥
W2cm,4cm3mxcm%lﬂﬂﬁif@ﬁﬁ
¥ FH-91 TF GE R?

fa) 5 cm <xcm< 52 cm §®
(b) 52 cm < xcm < 54 \

fc) 54 cm <xcm < 5@%’1}1

(d 56 cm <x c%&S cm

67. 10%@@@1@%@@%@%
H TAF x o FHEELF @ il I TAH
y a1 3Tl F A dAEal | |fe e s R
Frefafaa wui w fomr Hifv

1. y &AW x @ 3t 8

2. y, 15 31 THE B gl B
IWE FYH H V PH-A1/8 T /7
(@) Fad 1

(b) FaE 2

(c) 1 323N

(d @ 1AAH2

GHSA-T-MTK/45A

68. UNH W % n FEGH FHR =@ F FEH

TF FHR IR 918 e 2 IR 39 w@ &
€ Fier IR % fawd i w=E mo R, @

B FHR TR N Y ) e w7 2o
m m

(a) 9 - (b) 2vn
m V2m

(c) = (d) T

69. x TETE 3R y He F TH AGAHR T B

gfe 39 WL H) deE fl wWF A 92 @ |
qoH F AW p B, N IR w=E fi T @
qe @ 9. 9 H AFH g B, qul IR
qg=2p, A Frafafaa § @ F9-a1 = 9d 27

@ x=y
(b) 2x =3y
fc) x=2y

(d 3x=4y

70. 18 cm = % @ auR @ w =

ATAHR Fd4 F 1= W F g 9 B | T
0-9 cm = % urg % M 3@l gamw s €
Wﬁﬁmﬁmaﬂﬁﬁmwm 3 cm
g Smg?

(@ 100
(b) 500
(¢) 1000

(d) 1500
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67. A rectangle of

64. The radius and height of a right circular

cone are in the ratio 3: 7. If the volume
of the cone is 528 cma, then what is

the height of the cone? (Take = = %}

(a) 35 cm - (b) 70 cm
{c) 105 cm (d) 140 cm

65. A cylindrical pipe has inner diameter of

14 cm. Water flows through it at a rate
of 154 litres per minute. What is the

speed of water in km/hr? (Take n = 2)
(@ 05 (b) 06
(c) 08 (d 1

66. A spherical ball of lead 6 cm in diameter

is melted and recast into three spherical
balls. The diameters of the balls are
2 cm, 4 cm and x cm. Which one of the
following is correct?

(@ 5 cm<xcm< 52 cm ®
(b) 520m<xcm<54c%§
fc) S4cm<xcm< S @

(@ 56 cm <x cm\éé'cm

10 ‘wunifs and
breadth 8 units 1% split irito two squares
each of area x square wunits and two
rectangles each of area y square units.
Consider the following statements :

1. yis always gréater than x.

2. ycan be 15 square units.

Which of the above statements is/are
correct?

(@) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

GHSA-T-MTK/45A

68. A square sheet is formed by joining n

identical square sheets of same size.
If the length of the diagonal of the bigger
square sheet so formed is m, then
what is the side length of a smaller
square sheet?

m m

(@) s (b) 27n
m V2m
(c) —JE—-; (d) “—J"E-*

69. A rectangular s$heet is of length x and

breadth y..If' p is the volume of the
cylinder formed by rolling the sheet
along.its breadth and g is the volume
of the cylinder formed by rolling the
sheet along its length, and g =2p, then
which one of the following is correct?

@ x=y
(b) 2x =3y
() x=2y

(d) 3x=4y

70. A tall cylindrical container with circular

base of radius 18 cm contains a good
quantity of water. Metal balls each of
radius 09 cm are immersed in it. How
many balls are required to raise the
water level by 3 cm?

a 100
(b) 500
(c) 1000

(d) 1500

[ P.T.O.
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71. Y% 9V3 cm? &F%a Hi 9 wHaTg PaETER

e H SR Th Gt PSR ST 5
STt B 52 Pisgemen wret A Sard an 27

(@) 9V3 cm
(b) 18 cm
(c) 18V3 cm
(d) 27 cm

72. % GHAQT ATHR F Eq 8| 79 @a H IREN

100 m 3R w% faeof i &g 40 m R1 W
Qa #I 9) 50 fewdt #§ st s R w TR
F1 HTF FhaaT 87

(@ 150 T HiX
(b) 225 T HiIX
(c) 300 T HiX
(d) 450 & HixX

73. ABCD & uWava (3fifem) R, el AB

FAMIR & DC %| WM #ifw E 3R F %9
AD 3R BC W 7w-farg #1 F=10cm
3R AB- DC=4 cm, ?%Qfﬁxpc F1 A
w1 27 NS

(@) 84 & cm @Q\

(b) gﬁﬂ’fcmsQ

() 100 ¥ cm

(d) 108 a1 em

74. ABCD T& @Hi® 994« &, ¥ AB=15cm

3N AD=8cm. AR AB 3R AD ¥ &= o
?E{mt,ﬁﬂ’fcmﬁmi!@jﬂﬂ
fA%d F1 R7

(a) 60sinb

(b) 120sin6

(c) 60cosb

(d) 120 cosB

GHSA-T-MTK/45A

75. R fodt wnfgag @ fow @1 fom

42++2)cm ®, @ 1 cm # HE SAFA
w1 87

(@ 8
(b) 12
(c) 16
(d 24

76. & = 1 ool 1242 om ® 3iv freht wwamg

ﬁaﬁm@ﬁwmﬁaﬁ cm 8| F=fafaa
HYE W Y FA-E/8 TE /7

1. =i 3k Bys %1 aRem aam 2

2. @1 % &a%d 1 AR A, B % dawd
% 3/3 A F T B

#r faw ¢ F2 F1 Wi W wd IW ghu
(a) *ad 1

(b) FEd 2

c) 1 3R 23

(d) Jd1IMAE2

77. Tafafas w99t w fTmr fifsw

1. foeft o ft 5l @ st 1 9w
dredl sy W i T Wi % SR |
+q B

2. Tt fiye @1 wfem €= mfemed %
am | afus 21

I HUE A A FH-|1/8 T B/E
(@) Fad 1

(b) A 2

(c) 1 3R 23

(d Fd@1dAE 2
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71. An equilateral triangular sheet is formed

by joining 9 equilateral triangular
sheets each of area 93 em?, What is

the height of the bigger triangular
sheet?

(@) 9v3 cm
(b) 18 cm
(c 18J3 cm
(d) 27 cm

72. A farmland is in the shape of a rhombus.

The perimeter of the land is 100 m
and the length of one of the diagonals
is 40 m. The land is divided into four
equal parts. What is the area of each
part?

(a) 150 square metre
(b) 225 square metre
(¢) 300 square metre
(d) 450 square metre

73. ABCD is a trapezium in which ' AB. is

parallel to DC. Let E and\F be 'the
midpoints on AD and @tspecﬁvely.
If EF =10 cm and =4 ¢m, then
what is the value x DC?

(@) 84 square @

(b) 96 square cm

() 100 square.cm

(d) 108 square‘cm

74. ABCD is a parallelogram with AB=15cm

and AD = 8 cm. If 8 is the acute angle
between AB and AD, then what is the
area of the parallelogram in square cm?

(a) 60sin6
(b) 120sin®
(c) 60cosb
(d) 120cosb

GHSA-T-MTK/45A

75. If the perimeter of an isosceles right

triangle is 4(2++2) cm, then what is
its area in square cm?

(a) 8
(b) 12
) 16
(d 24

76. The diagonal of a square is 1242 cm

and the area of an equilateral triangle
is 6443 square ©m. Which of the
following' statemeénts is/are correct?

1. The square and the triangle have
the same perimeter.

2. Four times the area of the square
is egual to 3J/3 times the area of
the triangle.

Select the correct answer using the
code given below.

(a) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

77. Consider the following statements :

1. The sum of any two sides of a
triangle is less than twice the
median drawn to the third side.

2. The perimeter of a triangle is
greater than the sum of the three
medians.

Which of the above statements is/are
correct?

(a) 1 only

(b) 2 only _

(c) Both 1 and 2
(d) Neither 1 nor 2

[ P.T.O.
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78. WA #if9Y D, E 3R F, Bryst ABC # s
F9: BC, CA 3R AB % nw-fag #1 P
DEF Fr=fafaa # & fra fyw/fm Bgst %
watmem 87

1. AEF
2. FBD
3. EDC

9 fo U 2 1 wEm W EE IW g
(@) Faa 1

(b) *ad 2 3R 3

(c) Faa 3

(d 1,2 3R3

79. fdt Biye ABC ®, AB= AC 3R BC q1§
Wit @ D % W YER fF LACD=x, @

£ BAC Toass st 87
(a) 2x-90°
Q
(b) 2x-180° g\\g
>

(c) 180°-2x QO

<§§§5

X

(d 2 @

80. ABC W& fays , Sl B.W @HaIVl &1 @ 3R
AC=2BC Rl R zA=x, @ zC s
T 27

X
(a) 5

(b) 2x
(c) v2x

(d) V3 x

GHSA-T-MTK/45A

22

81. f/ft B ABC #, AB=16cm,
AC=12cm 3R AD fgwrsis & 24 #1) 3l
BD =4 cm, @ CD fore ster 27
(a) 2 cm (b) 2:5 cm
(c) 3 cm (d) 3'5 cm

82. x Y I H§ gHag Brge, y Brem & e
a9 & siwla dien mn R frafafes & @

HH-91 T w87
(@ 2y=x (b) 2y=+3x
() J3y=2x ((d) J3y=x

83. ABC T Ays-®, sl B W wH&m &+l 2
7" ofifm. p_mwa-fg @ AC w1 3R
BD=6-5cm, @ AB? + BC? fHas st
27
(@)
(b)
(c)
(d)

84. Im F9% M 2m =w H @ W@ §@
YR TR § F UM SR <9 W@ R ufa
¥Fg 1 cm B At w e 9 2 it T |
AR T9HAl B TR T @ fead wa A
et 8 S ?
(@) 280 ©2
(c) 230 e

144 91 cm
169 ¥ cm
196 & cm
225 ¥ cm

(b) 260 =
(d) 210 =5

85. Torell eI WHIE Seha® 1 T, HreT
3R =g 27: 8: 1% U | §| I
HIR YZHS | T 306 GH: T 99 STell
e B Al Eeiie HHIT Ye%erd w1 9B
@ﬁﬁp%aﬁtﬂiﬂw%mq%,ﬁp/q
Torah aeR 27

247 251
@ 108 ®) 108
503 505
il P i
© 216 @ 316
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78. Let D, E and F be the midpoints of the

sides BC, CA and AB respectively of a
triangle ABC. Triangle DEF is congruent
to which of the following triangles?

1. AEF
2. FBD
3. EDC

Select the correct answer using the
code given below.

(a) 1 only

(b) 2 and 3 only
{c) 3 only

(d 1,2 and 3

79. In a triangle ABC, AB= AC and BC is

produced to D such that ZACD = x,
then what is ZBAC equal to?

(@) 2x-90°

(b) 2x-180° - &S\
(c) 180°-2x S Q\Q%
@ 3 N

80. ABC is a triangle right angled at B with

AC=2BC. If £ZA =%, then what is Z2C
equal to?

x
(@) 5

(b) 2x
© V2x
(d) J3x

GHSA-T-MTK/45A

23

8l. In a

triangle ABC, AB=16 cm,
AC=12 cm and AD is the bisector
of ZA. If BD=4 cm, then what is CD
equal to?

(a) 2 cm
(c) 3 cm

(b) 2'5 cm
(d) 35 cm

82. An equilateral triangle of side x is

inscribed in a circle of radius y. Which
one of the following is correct?

(a) 2y=x (b)~2y =3 x
() Y3y=2x “(dNV3y=x

83. ABC s a triangle right angled at B. Let D

be the midpoint on AC. If BD =6-5 cm,
then what is AB? + BC? equal to?

{a)” "144/square cm
(b) 169 square cm
{¢) 196 square cm
(d) 225 square cm

84. Water is trickling out of a completely

filled cylindrical tank of height 1 m and
diameter 2 m. Every second a spherical
droplet of 1 cm radius trickles down
from the bottom of the tank. The tank
will be emptied in approximately

(a) 280 hours (b) 260 hours
(c) 230 hours (d) 210 hours

85. The length, breadth and height of

a cuboid are in the ratio 27: 8: 1. The
cuboid is melted and recast into a cube.
If p is the surface area of the cuboid
and q is the surface area of the cube,
then what is p /q equal to?

247 251
(a) m (b) r.g
503 505
e b "
© 36 @ 6
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86.

87.

90.

et wmepio Bt ABC #, BD @ & @0t AC
R IR AC=9 cm ¥R AD=4 cm, o
AB+ BC e g ster 87
(a) 12 cm
(b) 122 cm
fc) 12:4 cm
(d) 12:6 cm

fdt By ABC #, AD fwe® ® zBAC
#1| 4f? AB=12cm, BD=10cm 3R
DC= 5cm, @ fys %1 aftemg =0 27

(a) 30 cm

() 31 cm

(c) 33 cm

(d) 35 cm

4 cm, 7-5 cm 3R 85 cm ﬁiﬂaﬁ I TH
Pgst & il iR e g A Frswn @7
(a) 1:5 cm
(b) 2 cm
(c). 2:5 cm \Q®

g\

({d 3 cm

i # 5 cm @'2%&%«%3%%
i | 7@ g %w%?

(@) 100 =9

(b) 1000 ¥4 HX
(c) 4000 =4 Hfet
(d) 10000 =4 H2X

35 cm fre i wEfa 1 6 =@ 11 km
i{{ﬁﬂ n GFGEAY A1 ®1 n HOAE F A7

n——x"ﬂﬁlﬁ)

(@) 500
(b) 1000
c) 2500
(d) 5000
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et : o o A 9t (02) vl # for, et
athéimﬁauﬁﬁq:

H i g § frd s B srgear sEEEn wfrd
AR

Y AR wftreraan
30 T & = 14-00
30-34-99 2975
35-39:99 2625
40-44-99 0
45-49-99 1850
50 a9 3R 39R AftH 11:50

40 g9 Hl YW 2 F =Rt H @ 10-5 9@ R

91. W HI T SHEEN (1@ H) 71 87
(@ 21
(b) 18
(c) 15

(d) 12

92. 4Rk 30 ¥ @ = i 3 7Y wE § FEE@EA
F1 FF ARedl ¥ U@ 1:2 B, @ 39 7Y
e & wgranelt i gen (ara 7) w7 7

(@) 04
(b) 07
(c) 085

(d) 105
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86. In ~.a right triangle ABC, BD is Direction : Consider the following data for
perpendicular on hypotenuse AC. If the two (02) items that follow :
AC=9 cm and AD =4 cm, then what

The table bel i th —wi lati
is AB+ BC approximately equal to? e table below gives the age-wise population

percentage of a city :

(a) 12 cm
(b) 122 cm Ane s P
ercentage

fc) 124 cm e . g

(d) 126 cm Below 30 years 14-00
87. In a triangle ABC, AD is the bisector of 30-34-99 2975

£ZBAC. If AB=12 cm, BD =10 cm and 35-39-99 2625

DC=5 cm, then what is the perimeter

of the triangle? 40-44-99 0

(@) 30 cm 45-49-99 18:50

et 50 years and above 11-50

fc) 33 cm

(d) 35 cm

The number of  persons below the age of
88. What is the radius of the circle inscribed 40 years is 10°5 lakhs. :

in a triangle whose sides are 4 cm,

75 cm and 8:5 cm?

@ 15 91., What is the total population of the city
'S5 cm

(in lakhs)?
(b) 2 cm
{c) 25 cm g\\6® (@) 21
i jp S w 18
89. In a shower, 5 cm o@%ﬁn falls, What
is the volume of@er that falls on (c) 15
2 hectare area c&nd?
(a) 100 cubic metre (d) 12
(b) 1000 cubic metre
(c) 4000 cubic metre 92. If the ratio of taxpayers to other persons
(d) 10000 cubic.nietre in the same age group below 30 years
’ . is 1:2, then what is the number of
90. A bicycle wheel of radius 35 cm makes taxpayers (in lakhs) in that age group?
n revolutions in moving 11 km. What is
the value of n? (Take m = %) (a) 04
(@) 500 (b) 07
1000
(b) (c) 0-85
(c) 2500
(d) 5000 (d) 1-:05
GHSA-T-MTK/45A 25 [PT.0.

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

fdw @ I [ T 2 (02) Y F fo, Frafafaa
Fitwel W fa=m Hifsm

et #weft @1 ad 2011 ¥ 2017 & fow =m

(e wEt #) = g T SgEn @

el =g
2011 13-8
2012 15-4
2013 10-4
2014 13-1
2015 158
2016 17-2
2017 19-4

93, i ad # =g % gfg ot am fea ad #i
qo H 15% @ fes 9d1?
(@) 2 (b) 3
) 4 (d) 5

94, fu ad ¥ =53 A yfowm 3fs 8% fiea ad A
qor | srfteran g7

(@ 2012
(c) 2015 é

it mma@a(@m%m Fretefira
foram Hifsrg :

qaﬁaﬁwhﬁf‘ﬂa:ﬁnﬂA, B,'C, D 3ir E # f&fia
aor fafium #we: 40%, 8%, 9%, 25% 3R 8%
2| ga s Ay #300-4 @@ 21

95. A 3¢ C = fuamm fafum i o€ e, B, D
I E =1 e fafam 6 7f of 6 g
7 fara %9 7

(@ ¥3-004 @@
(b) ¥4-005 @rE
() ¥6-008 @
(d) 8010 @@

GHSA-T-MTK/45A

96. IR F@ T9 H FH TN TQRT WY, A A W
et wftn it gfg i smoht?
(@) ¥360-48 @@
(b) ¥300:36 @@
(¢ ¥240-32 @r @
(d) ¥180-40 @r@

T : 3 2 e 9w (04) v & foag, Fefataa
R foar il

el ohen #, fomdt oill, o ol i =1 wdeo
e ®, 500 el wifta gl 30 sl Faw
sl # ool g, 75 Faw el # srgeil g 50
Fae o # gl g 15 R o Rd ANt A
gl g7 Rl o aftm 9E1 # sl g
1777 eft 3ish A § gl g 5 @ AR

g A Sl g
o7, Fa-d-mm 2 el sEpfol R A s

=) == wfcrwraan 87
(@) 54% (b) 64%
(c) 68% (d) 7-8%

98. ¥ad UF fawg # gl a9 I et 6

w1 i &7
(@) 28% (b) 31%
(©) 358% (d) 388%

99, FH-Y-H4 U fawg & gl 9 A vl

= == vl 87
(@ 31% (b) 354%
(c) 388% (d) 41:5%

100. fem svreff @ an afR sferes fort & efiof gw?
(a) 461 (b) 405
(c) 345 (d) 306
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Direction : Consider the following data for
the two (02) items that follow :
The expenditure (in lakhs of rupees) of a

company for the years 2011 to 2017 is as
under :

Year Expenditure
2011 13:8
2012 15:4
2013 10-4
2014 131
2015 158
2016 172
2017 19-4

93. How many times the increase in
expenditure in a year exceeded by more
than 15% as compared to previous

year?
(@) 2 (b) 3
(c) 4 (@ 5

94. In which year, the percentage increase
in expenditure is maxi as
compared to its premous yg\

(@ 2012
(c) 2015 @

Direction : Conmder@e following-for the
two (02) items that follow :

The budget allocations represented in a pie
diagram under five different heads A, B, C,
D and E are respectively 40%, 18%, 9%,
25% and 8%. The total-budget allocation is
¥300'4 lakhs.

95. How much less amount is allocated to
A and C together as compared to B, D
and E together?

(a) ¥3-004 lakhs
(b) ¥4-005 lakhs
(c) ¥6-:008 lakhs
(d) ¥8010 lakhs

GHSA-T-MTK/45A

96. How much amount will be increased on
A if the total budget is increased by
three times?

(@) ¥360-48 lakhs
(b) ¥300-36 lakhs
(c) ¥240-32 lakhs
(d) ¥180'40 lakhs

Direction : Consider the following for the
four (04) items that follow :

500 candidates appeared in an examination
comprising tests in ' English, Hindi and
Mathematics. 30/ candidates failed in English
only; 75 failed in_Hindi only; 50 failed in
Mathematics only; 15 failed in both English
and Hindi; (17 failed in both Hindi and
Mathematics; 17 failed in both Mathematics
and English; 5 failed in all three tests.

97. What is the percentage of candidates
who failed in at least two subjects?

(@) 54% (b) 64%
c 68% (d) 78%

98. What is the percentage of candidates who
failed in only one subject?

(@ 28% (b) 31%
(c) 358% (d) 388%

99, What is the percentage of candidates
who failed in at least one subject?

(@ 31% (b) 354%
(c) 388% (d 41-5%

100. How many candidates passed in two or
more subjects?

(@) 461
(c) 345

(b) 405
(d) 306

[ P.T.O.
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DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO

T.B.C. : GHSA-T-MTK Test Booklet Series

Serial No.

TEST BOOKLET
1135049  gELEMENTARY MATHEMATICS

Time Allowed : Two Hours Maximum Marks : 100

1'

. You have to mark all ‘g}\%

. All items carry equal

INSTRUCTIONS

IMMEDIATELY -AFTER THE COMMENCEMENT OF THE EXAMINATION, ¥OU, SHOULED CHECK
THAT THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR MISSING PAGES
OR ITEMS, ETC. IF SO, GET IT REPLACED BY A COMPLETE TEST BOOKLET.

. Please note that it is the candidate’s responsibility to encode and fill in the Roll Number

and Test Booklet Series A, B, C or D carefully and without any omission or discrepancy at
the appropriate places in the OMR Answer Sheet. Any omission/discrepancy will render
the Answer Sheet liable for rejection.

You have to enter your Roll Number on the Test Booklet in
the Box provided alongside. DO NOT write anything else on
the Test Booklet.

. This Test Booklet contains 100 items (questions). Each item is printed both in Hindi and

English. Each item comprises four responses (answers). You will select the response which you
want to mark on the Answer Sheet. In case you feel that there is more than one correct response,
mark the response which you consider the best.In any case, choose ONLY ONE response for each
item.

Q:sponses ONLY on the separate Answer Sheet provided.

See directions in the Ans heet.

ark in the.Answer Sheet the response to various items in the Test
Booklet, you have in sorfie particulars in the Answer Sheet as per instructions sent to you
with your Admi% Certificate, :

After you have cofnpleted filling in all your responses on the Answer Sheet and the examination

has concluded, you should.hand over to the Invigilator only the Answer Sheet. You are permitted
to take away with you the Test Booklet.

Sheets for rough’ work are appended in the Test Booklet at the end.

Penalty for wrong answers :
THERE WILL BE.PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN THE
OBJECTIVE TYPE QUESTION PAPERS.

(i) There are four alternatives for the answer to every question. For each question for which a
wrong answer has been given by the candidate, one-third of the marks assigned to that
question will be deducted as penalty.

(i) If a candidate gives more than one answer, it will be treated as a wrong answer even if one of
the given answers happens to be correct and there will be same penalty as above to that
question.

(iii) If a question is left blank, i.e., no answer is given by the candidate, there will be no penalty
for that question.

Before you proceed

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO
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